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Subject - Accountancy
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Instrucations :-

() we9 = 9 vl § fawfoa & — (@) @) (|)

Question Paper is devide in 3 sections — A, B& C

(i) @TE @) & T U T HA Afad B

Attempt all the question of section A

(i) @vs (@) Td (@) § A PIs fl Th GUS B BRAT B |
Solve any one section of section B or section C

(iv) TP GUe & AN YAl & IR Ud &l ©IF W o S A1y |
All the question of each section are solve at one place

(v) 3rfErEHTH ITa—AHT BT St 1% Jegrfead wedl & fow €

Maximum word limits are for theoritical questions only.

TUS (31) Section — A
(ATSIEN BH U4 HUIAl & Rgihe)
(Accounting of Partnership firm and Companies.)

U SHHIG 01 ¥ 06 P SMATLSIRIT U & |

Question No. 1 to 06 any very short — answer type questions.

JPb U9 TR 1 3P 3 |

Each Question carries 1 mark.

U3 HHID 11— WA AEeR] ARH g9 T g -
(31)1932 # (@) 1947 H
(A) 1951 H (3) 1991 H

Question 1:- Indian Partnership Act has been passed in the year-
(r)1932 (B) 1947

(c) 1951 (0) 1991



U9 hHIP 2— FIEER! § HF W HH B9 9Ifed —

(31) o <afad @) a1 afaq
(|) AT fad (@) <9 afd
Question 2:- The minimum number of members in a partnership firm must be -
(A) 3 (8) 2
(€ 7 (D) 10
Ue P 3— HU B AIH ASIYYT Uold Bl & —
(31) ufdaRor (@) uE ofafam
(|) g M (3) AT BT o<

Question 3:- The most important document of the company is-

(A) Prospects (8) Mamorandum of Associations

() Article of Association (D) Register of members.

[
f=feIRad godl @& SR U e /a1 | foRay —
Answer the following question in one word / Sentence.

U b 4— DI AT BUAT P 3790 P TR UR Ufdsel NgdT 27

Question 4:- Which Companies is Shares cannot be transfared ?
Ue P 5— ARGRI ol & IR ¥ fhd AfSf=H & uraem an 8 27

Question 5:- Which act applies in the absenc of Partnership deed.?

Ued HHID 6:— HASIGRI & de] W & 913 SIld &7

Question 6:- When are partners current account prepared ?

U SHHIG 07 ¥ 10 IP AgSaNd U ¢ | U U WR 3 3 iR 2 |

Question No. 07 to 10 are short — answer type questions.Each question carries 3 marks.

U3 HHID 7:— WATSIGQR BT FIT 3T &7

Question 7:- What is meant by the taerm partner?

U HHIDB 8— Y foMfAce =1 10%. drel 15000 WA 3% Siar H AT fHd | |yl
RIRT U g3 YT &1 TS | Siiel ufaftedr Sifor?

Question 8:- Y Ltd. issued 15000 shares of Rs 10 each to the public. The whole amount due was

reevied in lump-sum. pass necessary journal entries.



ued HHid 9— 7 forfiics =1 25000 12 Ufierd YaifOerR ofer 10%. drel i<l H
PRI fhr | | IR ges qed Ut 81 Mg | ? z folfics & g&idl | Sieidt
gfaftear IR |

Question 9:- Z Ltd. issued 25000 12% preference shares of Rs.10 each to the public. The Amount

was received in the lump sum. pass necessary journal entries in the books of Z Itd.

g HHe 10— IRT fIffics 9 10%. dTel 60000 13 Uferd =oqs 9%, Ufd Foras
P X O g fEy 9y afdr smdea R & g ® US| 99 ufaftedr
PO |

Question 10:- Tara Ltd. issued 6000 13% debentures of Rs. 10 each at Rs.9 each all the money have

been received on application it self pass necessary journal entries.

U HHID 11 U4 12 THSTRIY U9 8 | TP YT WR 4 3feh FeiRa 2 |

Question No. 11 to 12 are short — answer questions.Each question carries 04 marks.

U9 HHI® 11— X ¥ Ud Z U HH H HAIE 50000%. 30000 AAT 20000%. HI Yol &

AT AERGR ¢ | 9EER ¥od & AR Udd AeeR ®I gofl R 5% a1y
grol a1 SIRAT 92T 1000%. 91 dd= feaT SR [&9TST d9T dd9 e+ &

Ud BH BT A9 25000%. T | o4 BN RIS Wl 991 |

Question 11:- X Y and Z are partneres in a firm with respentive capitals of Rs. 50000, Rs. 30000
and Rs. 20000. According to the partnership deed each partner is entitiled to interest on
capital@ 5% P.a. and Salary of Rs. 1000 P.a. of the net divisible profit . the profit for the
year. prior to calculation interest on capital & salary is Rs. 25000. prepare profit loss

Appropriation A/C

31rdT (oR)
TH BH O Yol 2 G %, g | S UBR & e H fafFaifed ol )
AHT YA &R 15% © | fa7d 19 987 & o™ A 60,0009, 7200070, T=HT
84000%. € | WRIGRI &1 A da+ 24000 . & | WIfT &I HeaTdhd AfeArd
@ & 99l & DY D IRER BRI © | BT DI oI A1 DI |

The capital of a firm was Rs. 200000 and the normed rate of return on capital employed in

similar business was 15%. The profits for the three yeare amounted to Rs. 60000, Rs. 72000
Rs. 84000 respertively. The annual salary to the partners were Rs. 24000 Goodwill is to be

valued at 2 years purchase of super profit find out the value of goodwill.



U9 HHIG 12— N & AT TAT T & U H 3faR WL DI |
Question 11:- Distinguish guish between Sacrificing ratio and gaining ratio
31rdT (oR)

qaidh / [FIg<TAT AISIGR DI <F R DI M0 f6d GHR I Sl 272

How is the amount payable to retired/ deceased partner calculeted?

U3 AP 13 Ud 15 SESTNIT U3 & | TP U W 6 3 =aifRd € |

Question No. 13 to 15 are long answer type questions.Each question carries 06 marks.

U AP 13— A IR BABIGRI ¥ 32 & IJUd ¥ o4 A9 aRd ¢ | 31 fadqwR

2017 B ST el FFaR 2 —
HIPE RUEd] NEIREI] MKl
AT |faf 800 NEUS 650
GSil —A 2000 TTER 1000
B 1000 3000 ThY 1500
3800 I3 650
3,800

e — §HRl U4 I & @ Ud IR @ @ G99 811 | o —

KDL NIEl dufoat | <f

IM B BHH1/3 YT & ol AR 999 & —

(1) 98 Yol & 1000 ®. SIT|  (2) HH & AT 1000 . BRI |

(3) Tl T HeI 500%. W ¢ SIRAT| (4) STGRI R A I & ol 100 . &I
AT fHdT SIRATT | YAFedidd Ud WEIeRI & Yol @ g7 |

Question 13:- A and B are partners in a firm in the ratio of 3:2 Their Balance Sheet on 31%

December 2017 stood as under.

Liabillities Amount Assets Amount
General Reserve 800 Cash 650
Capital Debtors 1000

A- 2000 Stock

1500

B 1000 Plant

3000 650
3800 3,800




They admit M intho partnership for 1/3 rd share on the following terms-

(1) He will pay Rs. 1000 for his capital.

(2) Firm’s goodwill be Rs. 1000.

(3) Stock will be appreciated by Rs.500.

(4) Provison of Rs. 100 will be made for doubtfull debts.

Prepare Revalvation and partners capital accounts.

31rdr (oR)

3 TAT & YUY dlel Udh HH H HAIE 32 & U H FEeR o | 31 fagwr

2018 BT IAHT FIST H UPR o —
faest (31—12—2018 &)

T | Ifdr Fafer SRl
IER 30,000 Had 20000
PSIREI] ENIER 9000

A- 30,000 TIER
B- 20,000 50,000 45000 37000
—3AISTF - 8000 | 8500
fafermmT 5500
80,000 NS 80,000

IBIF 01 SNl 2019 & 9 BT 7 Ial R FRICR §97137 |
g Yol @& 12000%. QAT &I &

(1) S ™ &7 1,/3 9N 9T 8T

@

fore MM @ 9000 %, ATUIT| (3) Wad BT HA 34000%.

8000%n. YT STUIT |

CRENIE NG IR )

(4) SgT FIT AT 2000%. | HF R &

ST | (5) fAfENT @1 99TR oI 6500%. B Sif 1 71 of ford € |

g AT QAT TAT AISER & Yol @d 15 |

A and B to Raipur are partners in the ratio of 3:2 Their Balance Sheet as on 31" December

2018 stood as under.
Balance Sheet (31-12-2018)

Liabillities Amount Assets Amount
Creditors 3,000 Building 20,000
Capital Machinery 9,000

A — 30,000
B - 20,000 50,000 Debtors 45,000
50,000 (-)Provision 8,000 | 37,000
' Investment 8,500
Cash 5,500

80,000

80,000




They admitted “c” in in partnership on the following terms form 1 Jan. 2019.
(1) He will get 1/3" share in profits. (2) He will bring Rs. 12000 for capital and Rs. 9000 for

goodwill (3) The value of building and machinery will be Rs, 30,000 and 8,000 respectively (4)
Provision for bad debts will be reduced by 2,000 (5) The market value of investment in Rs.6500

which was taken over by A prepare Revaluation Account and partners capital Accounts.

Ueq $HHID 14— AB Ud B SHHT: 3211 & IIUNT H o9 B dicd © | 31.12.2018 Pl

T forer FFETgaR © -

TR SR Fufer SR
TER 1600 NEES) 600
Sfad by 6000 9% 1000
Sl TTER 9000

—A 10000 TIh 7000
B 10000 I3 6000

€ 10000 30000 qad 14000
37600 37600

B3I A T STTBT T HRT 2 |

= e A © —

()| 0T HAG 5% AT ST (2) TCTh BT 5%AAT T BT 10%37aHed [haT Y |
(3) 9aH BT HT 15100%. IE@T S |
T I AR Gl UG ARRRE @ Yol @ a4 18 |

Question 14:- A,B,C are partners in the ratio of 3:2:1 Their Balance Sheet on 31%" December 2018

stood as under.

Blance Sheet on 31-12-2018

Liabillities Amount Assets Amount
Creditors 1600 Cash in hand 600
Res.erve Fund 6000 Cash at bank 1000
Capital Accounts Is)ebtli)rs 9000

_ t

A- 10,000 oc ‘ 7000

B - 10,000 Machinary 5000

c. 10000 Bulding

' 30,000 14000
37,600 37,600

on that day B retires from business. It is agreed to adjust the values of the assets asfollowing




(1) To provide a reserve of 5% on Sunday Debtors for Doubtful debts.
(2) To depreciate stock by 5% and plant by 10%
(3) Building is revalued by an independent valuer at Rs.15100, prepare profit and loss

adjustment account and. partners capital Accounts.
31rdT (OR)
A UG FHARCR T SN1/21/33R 1/6 & A | 9 — &I died
21 31 91 2017 B ST fIe] 99 ISR o —
31 f&=R 31—12—-2018 Pl

IR IRl afer IRl
TER 8000 NEUS 15600
9% srfrfamy 3600 TER 13000
Sfad By 12000 TH 17000
goit 50,000 NEE| 3000
A 20,000 SUDN 3500
B 10,000 T 11500
C 10,000

63600 63600

99 fodt " for ol R AR W g Bie § -

(1) T W 5% oI & IRAT 2| (2) ThY H 10% T g HI SR |

(3) \feer ol WR 5% AT BT S (4) =TT & ford WFRE &1 Jeared
g B W Yd b UM qu D Ml D YR R AT Al o DI Gl
BET AR | o9 39 UBR o —

2013 — 8000%. 2014 — 13000%.

2015 — 7000%. 2016 — 8000 . (BT()

3R 2017 — 1000 &,
AT BN FERIS ETdT 3R ATSIGRI BT goll @il a1 |

A,B and C are partners, Dhanjay Profits and Losse in Proprotions of 2, 1/3 and 1/6

respectively. Their Balance Sheet on 30/03/2017 was as follows.




Balancesheet on 31-03-2017

Liabillities Amount Assets Amount
Creditors 8000 Cast 15600
Bank over draft 3600 Debtors 13000
Reserve Fund 12000 Stock 17000
Capital A/C 50,000 Plants 3000

A 20,000 Fixtures 3500
B 10,000 Building 11500
C 10,000

63600 63600

C retires from firm on that date subject to the following conditions :-

(1) Plant to be deprrciatied by 5%.

(2) Stock in hand to be appreciated by 10%

(3) Reserve for doubtfull debts to be created @ 5% on Sunday Debtores.

(4) Premium for good will to be valued at twice the average of the annual profits calculated
2013 Rs. 8000; 2014 Rs. 13000 ; 2015 Rs. 7000; 2016 Rs. 8000(Loss) and 2017
Rs.1000
Prepare the profit and loss Adjustment Account and partners capital Accoutn. also show

the Blance Sheet of A and B after C has been paid off.

3 PHHIPG 15— TP DUl 1 10%. dTel 12000 3T SR fHU | 9 Hde H 2%. MdaA
4%, J§e U 4%, YUH UG Iifod IJraqr R ¥ & | 9 IR Iy U
BN TS | BUAT I GIADI H SIS ST-icl Faell ok DI |

Question 15:- A Company issues 12000 shares of Rs. 10 each. the Amount was payable as Rs.2 on

application, Rs. 4 on allotment and Rs. 4 on first and final call all money have been duly

received pass the necessary Journal Entries in the bank of the company.

31rdT (oR)
AT fIATsS d 100%dTel 4000, 9% ZROYH FRIAT fBy | 3maes o 10%.
rded WR 30%. TAT I WX 60%. U FOMMH &I &% A I Hrarg S |
| AR JATEAI UT &1 T8 | BFAT B JRKIDl H oHel & ol BIY |

Samta Ltd. issues 4000/ 9% debentures of Rs. 100 each payable Rs. 10 on application. Rs.

30 on allotment and Rs. 60 per denbentures on call. Assuming that all the moneys were

duly received. drow up necessary Journal Entries in the booka of the Company.



U9 $hHib 16 UG 17 STISAIT U9 & | UP U997 WX 8 3ih aMdfed & Uddh UId |

rfaR® fawer €|
Question No. 16 tol7 are long answer type questions.Each question carries 8 marks. Each question

has an internal choice
U SHHIG 16 —DBIell, TRT 3R YRT UH BIH H HAL: 2211 B AU H AEER & | 1
SIFER] 2018 DI IAABI frear 1 gavr o —
frest (01,/01,/2018)

TR SR Ty SR

TER 24000 NESS 12000

AT dfaf 10000 TIER 16000

PSIREIR] Sad kT —500 15500
BT — 30000 wIh o 15000
TRT — 24000 BraR 19000
T — 12000 | 66000 qad 38500

100000 100000

S fAfr &1 Areary faees fear Tar | Rl 9§ a4l 9 JeR 88 —
TTGR 9 14700%. ¥CTH H 14000%. HHAR H 18000%. 9dd H 41500%. T
SFERT Bl 9ol e H 23000%. @A I | fdged @1 @™ 1000%. HRAT
T | SRIelT GTell 99180 Ud Yol @rar a8 |

Question No. 16:- Kala, Gora and Bhura are partners in a firm sharing profit and losses in the ratio

at 2:2:1 respectively. Their Balance Sheet on 01-01-2018 stood as under- (Adujstment
Balancesheet on 31-03-2017

Liabillities Amount Assets Amount
Creditors 24000 Cast 12000
General Reserve 10000 Debtors - 1600
Capital A/C Bad Debts - 500 15500

Kala -30000 Stock 15000

Gora - 24000 Furniture 19000
Bhura - 12000 Building 38500
66000
100000 100000




on that day they decided to dissolve the parternship. The assets were realized as under,
Debtor 14700, Stock 14000 furnniture 18000, building 41500, creditors were paid 2300is
full and dissolution exp. Were 1000/- prepare realization A/C capital A/C

3727dT (OR)
TUH HH H X, v 9T z FAF AEIER o 31 fGA=R 2015 @1 z & 9 &
TE | 39 ffr &1 39 < IR 50000 . off | I® fofy gam f& IR 10000 &.
DI qID! gRT I Bl STRA | $9DH1 ULH YA 1 Sa9) bl fbhar 73 |
AY I YA Gfady 1 Sa bl fbd T | R STRIESRI bl anfial ol
RIRT ATl o, SFa! Jcg 3 STadl 2019 I 81 AT | | Ufcray 37a=T IR WR 10%
IIYH BT G A AT DI TUET S ST 2 | D! o il 978 |

X, Y, and Z were equal partners on 31 December 2015, Z died. The amount payable

to him on this date was Rs. 50000. it was decided to pay this amount by way of annuity of
Rs. 10,000 which will begin from 1 January 2016. the remaining payments will be made
like wise on 1% January each year. The legal respresentative to whom the payment by
annuity was made. died on 34y anuary 2019 Interest is payable every year@ 10% per annual

on the unpaid balance. Prepare Annuity suspense Account.

e HHIB 17 — Udb DU & FdTeAdl o 10%. dlel d 300 37 Sled R ol S 3.
gfa afer NiAeE o g fhd T o | Jifd 59 R Y| I R 3%,
gfcr 39T @1 &) A e gt WA o1 | A< Are 2%, Ui Sfer e Al Mg
off | STed eIl & MY 3 1500%. ¥ (QUie<) Y AT o) QT | ol &1
STl eI e & g fntee @ See ufafteat g |

Question No.17:- The directors a company for feited those 300 share of Rs. 10 each issues at
premium of Rs.3 per share for non- payment of the first call money of Rs 3 per share. The
final call of Rs.2 per share has not been made half the forfeited shares were re-issued at

Rs.1500 full paidup. Record the journal entries for the forfeiture and re- issue of share.
31dT (oR)
U foffics BU=T o JHY & 10%. dTel 200 3 S IUT — IR o, ST
R ol Fifs S 3fde AR 3%, Ula 39 AR 3ifoH Are=r IR 4%, gl
3P B R W Bl IS | IAT Dhadl 3dad RN 3%, U 3 B &R ¥ Gl
& ofl | IHD N Y WA P 8%, UM Y @ R 9§ Yofed YAFFIAG @R
f&r T R @ S&f qem g fRtee dee) Sier wfaftedt gerigy |




X, Ltd. company forfiteted 200 shares of 10 Rs. each fully called- up held by
Ramesh who paid application money only @ Rs. 3 per share but failed to pay allotment
money @ Rs. 3 and final call money @ Rs 4 per share. All his share were re-issues to
Naresh @ Rs 8 per share fully paid up give journal entries for forteiture and re- issue of

forfeited shares.

usg (E[) Section — B
Qe — U PP 18 Td 19 ANTATYITRI U ¢ | TP U WR 1 3ih MeiRd 2

Instruction :- Question No. 18 and 19 are very short answer type question. Each question carries

1 marks.

U hHidh 18 — Al fddbed gy —
Choose the correct option:

fres @& AT # fa 4o & wffie =&l foar orar g —

(@) frffa o (@) gapar qont

(w) Sfer gl (2) arferaa il

The Status of which capital in not includes in the grand total of Balance Sheet.
(A)Issued capital (B) Paid —up Capital

(C) Share Capital (D) Authorised Capital

g HHIBG 19 — TP g/ I H IR SIoTY —

Answer in one word sentence :

AR BHeA fhd UbR &1 < & —

Under writing Commission in which type of Expenditure.
e — U HHI® 20 A 22 T TSI Y 2| TP T W 4 (% FaiRa 2
Instruction :- Question No. 20 to 22 are short answer type question. Each question carries 4 marks.
U HHID 20 — FTfbd Gl ¥ gerdeas Rerfd fdarer daR $Ifsg —

From the following informations prepare comparative Balnce Sheet :-

fdaROT /Particulars 31-03-2017 31-03-2018
HHAT 39T @ /Equity Share capital 2500000 2500000
IRl FHRTAT /Fixed Assets 3000000 3600000
AT Ud BIY/ Reserve and surplus 500000 600000
faf =T /Investments 500000 500000
CIEEARIE B’W /Long term Borrowings 1500000 1500000
T ARl /Current Assets 1500000

A QTI<d /Current libialities 500000 ;23888




3AdT/OR

Ffha gamell s fafce &1 Joes fRIeal TR By —

Prepare Compratiove Balance sheet of Nagendra Ltd. from the following

information :-

faeRoT /Particulars 31-12-2017 31-12-2018
JFeTTRAT & BIY /Share holders funds 1200000 1800000
IR =Te] TR /Non- current Liabilities 600000 600000
drel ST/ Current Liabitities 200000 600000

iR =76 XA /Non- current Assets 1400000 2100000
=Te], AT /Current Assets 600000 900000

U HHIG 21 — AHTehd [daRoT I Farad IRl | Idbs d98/d [ddRo darR

Prepare cash flow statement from operating Activities from the following details :-
daxOT /Particulars Rs.31-03-2017 Rs. 31-03-2018

oM™ — BT+ BT fdaxor &1 2y (3rfere) 55000 60000

Surplus i-e. Balance in statement of profit and loss

MYTR® YT Trade Receivables 25000 31000

37a<t fbRIAT Out stending Rent 12000 21000

Tl Goodwill 40000 38000

‘IC‘E?T gY  Prepaid Expenses

4000 2000
MTR® < Trade Payable 13000 19000
SAAdT/OR

faiferd faavor & Garaq fhar 3 bs 9819 BT 0T BN —

JINYT /Particulars

Rs.31-03-2018

Rs. 31-03-2018

AT — B BT daR0T &7 I (31Tfera)
TIh

RS UTy

e Y

LCIIR|

TR DS

LRIEE]

71000
12000

58000
14600
57000

9000
82000

89000
4000

45000
10000

27000
12000
56000




(1) HIRT BT TP 9N 50,000%. DI SART el T IR ™ 20000%. ST ST
T &, 10000%. H 99T | 99 H ST AT B 18000%. @ |

(2) a9 H SIS 23000%. FHTAT AT |
(3) @y H AT FHTAT 36000%. |

Calculate cast flows from operating activities from the following perticulars :-

Particulars

Rs.31-03-2018

Rs. 31-03-2018

Surplus i.e. Balance in the statement of profit &
loss

Inventory

Trade Receivable

Out standing Expenses

Goodwill

Cash in hand

Machinery

71000

12000
58000
14600
57000
9000

82000

89000

4000

45000
10000
27000
12000
56000

(1) A piece of machinery costing Rs. 50000 on which depreciation of Rs. 20000 had been

charged was sold for Rs. 10000 Depreciation charged during the year was Rs.18000.

(2) Income Tax 23000 was paid during the year.

(3) Dividend paid during the year was Rs. 36000.

U3 HHID 22 — Ads F8d [JaR0 BT AHRN & el DIy —

Diseuss the limitations of cash flow statement.

3ferar / OR
I F81d faavor &1 dgc THeey |

Diseuss the importance of cash flow statement.

Qe — T PHIG 23 TESTRIY U B TP U W 6 b FIRT 7| de

e faweu Suer 2 |

Instruction :- Question No. 23 is long answer type question. this question carries 6 marks and has

an internal choice.

g HHib 23 — faxig fAavon & fageryor &7 R &7 Sl HIRTT —

Diseuss the limitations of analysis of finanicial statement.

31eTdT / OR

fo=g faa=oN & fAveIvor &1 g8cd FH=sy |

what is the importance of analysis of financial statement.




EUs () Section — C
Qe — U PP 18 T 19 ANTTYITNI U | TP U WR 1 3 FeiRa 2

Instruction :- Question No. 18 and 19 are very short answer type question. Each question carries

1 marks.
U hHidh 18 — Al fddbed gy —
Choose the correct option:

9 W P9 9T SdTE I B —

SIS (9) Birvee

(|) HiHrex (]) g A ShS
Which of the following in an output device?

(A) Mouse (B) Key board

(C) Monitor (D) CPU

U9 PHHIb 19 — U I/ ITR H IR IOl —

Answer in one word/sentence :
Sel— 99 &I fhdl U 9Ny &1 99 forfRau |

Write any one name of the language of the database.

e — U HHI® 20 W 22 Th AYSIRIT U & | YD U9 W 4 3 [uiRd 2 |

TP Y H IR fddhey 2 |

Instruction :- Question No. 20 to 19 are very short answer type question. Each question carries 4

marks.Each question han an internal choice.

Ue hHId 20 — HRYCURT WD Ylell & v foiay 18 (3R) | —
Write advantage of computerized Accounting system (any four)

J12AT/OR
HFYRIh o@D Yullell & Y forRed (1s @) |

Write disadvantage of computerized Accounting system (any four)

Ueq DHIdh 21 — HFCUgd AHRT oRgTh- Bl fdba=l SR H afiepd fhar Sirem
g | M ol |

How many categaries are computerized property accounting classitied? write name.

312TAT/OR
g / <dfaa & ol & JwErsy |

Explain the benefits of point / illustration.



TS HHID 22 — AEIH AT YUITell & &N Bl AHE |

Explain the symptoms of accounting information system.

3127141 / OR
ST AATIT B YhRI bl FHSSY |

Describe the types of data verification.

e — U PHIe 23 USRI U B 39 U W 6 Jdp MUiRT B Tl

adRe fawed Suter 2 |

Instruction :- Question No. 23 is long answer type question. this question carries 6 marks and has

an internal choice.

U hHidh 23 — SICT 99 & Iqaedl Bl FHSY |

Explain the objectives of the data base.
317971 / OR

STCT 99 Yd¢T YUTTell & BT Bl Fqsgy |

Explain the functions of data base management system

0000



IS RE L | |
fava — TEEmE (301)
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| — 3 90 quTids — 80
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fcer —
Instrucations :-
() 7w U= 9 @ust § fiRa & — @1)@)«)
(i) @vs @) @ A U3 gt HRAT AR B |

(i) @S (@) vd () § T DI A Th WIS TA HRAT ¢ |

(v) 1 U9 & SR TP o WIE R ford S+ =12y |

(v) FeTRT sfdi @1 &= # Tgar IR ford |

(iv) 3rfSrpdH Teg AHT BT ook dad Jeaifad gz @ v 2|
e — @ug o & 9l U g BT 2|

TUS (31) Section — A
(TSGR BH Td HUIHEl & ordide)
U SHHIG 01 ¥ 06 P STTTLSTRIT U 2| IS T W 1 3D 2T |

U3 HYh 1:— Fa Afdd 1T BT I uTed Bl § 98 fafy € —
(@1)eiTa v fafer & (@) Yoty fafer &
(@) arffera fafs | (]) srferamy fafer &

U3 HHIBG 2:— ATRERI & FATOT W g9 9 el @Ial & i—

@) o™ — T o @A (@) aiffer ST @rdn

SIS SUREINI (B) THATHT STl

g9 hHib 3— Aol dul § Al Bl fhdd =T fhd-T il 2 |
(31) 20 @) 10

(%) 50 (@) 200

UeT HHID 4— I W BT AW garsy Sl GEOREAT Td IRl & Jod H Bl Al
qfes g IR ST 27?



U b 5:— TSN Folkd & 39Td H 0T UR &gTo] &l X aldl o7

U9 hHIb 6:— fb AT W I &I <x [Hf¥=g gl 27

U BHHIB 07 10 TP AgITNIT U © | UP U WR 3 3 MEiRd 2 |
geq HHIG 7:— AR Yol @ram vd gRaaeiiel Yol @rar | sfar for?
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